Entluftung

8 RR 100
: WBEE Dacen R DF u5pp? JwOm Wohnung 5 DG
R 4 garas
e o
{D . : ABST feia __}—— !
it B 1 epde
: BAD i £
e '
&S ELTERN |
..ﬂ |
FLUR @ \ |
. L Entlyftung
[""__ v o = _ubc:Doch
T l [ N2 el N
5 B I ’
=il KOCHEN |
g % ooy
KIND b l
. /l\\ o /V*L HNE \\ A |
N Vi
HEREE D - b [] ‘ 2,00m
]( : ,_I// N I __..__E_]._ __1_..
s 0 N o |
Ll e k. e > D00m
t n iy T
Qd“ﬂ R i [$
D Tom? | —\ | BF P2
I o |} 1 X u>'1] :
P I B o
L U elelkok __Dvi__J
20 00 m
Flur 3,385 x 1,135 = 3,84 m°
Abstellraum 1.0k e 1,385 = 1,40 2
Ll e 1.375/2= 0,69 2,09 m
Bad + WC 2:26 x-1:385 = 3,13 2
2,26 xo 1:375/2= 1,55 4,68 m
Eltern 3576 % 3,635 = 13,67 2
3.0 -x 1,375/ = 2559 16,26 m
Kochen 2:635 x 0,75 = 1:98 5
2996 x50 = 4,13 6,11:-m
Wohnen 3.26 % 2,125 = 6,93
6,01 x 1.01 = 6,07
0:25 x 2,625/2 = 0533
200 »x 1,3/5/2 = 1,38
0 1 = 016 .
376 % 1,25 = 4,70 19,57 m
Kind 2,885 x 2,76 = 7,96
. 048 ¥ 085 = = 0.33
15260 %175 = 221
0. 05 3 1. 6/2. = 0,66 ’
G805 % 1. 782 = 0,17 11,27 m
63,82 m°
2
SR 1,91 m
Balkon A-560 =x > 1..50 = 6,84 4
a2 0,750 xa 05 /2 == 0,56 61,91 m
6,28 /2 = 3,14 m
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